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3 BT AT tau/tau 18 - liau
4 AR khian 19 A"# ., % khak
5 BT s kian 20 T A ka
6 " He AT kénn/kinn 21 "R LR thuann
7 AT liam 22 HT R sé/sué/seré
8 "R 3% tsing 23| 4" A tshi
9 38T % phoo/pho 24 % "% khok
10| B" &4 F kong 25 "% khiap
11| &4 tsip 26 "®Z . R kidu
12| K" # sua 27 | ET A thiag
13 KTk thang/lang 28 | B4z " B tenn/tinn
14| 487 48 o 17 l&/lué/leré 29 "B L% bong
151 E'"#& | tong 30 wmTE . tshuan
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31 | T # ,5E% lu 49 | T A K ba
32 "R F khe 50 P tok
33| "1 , % | thhg/thuinn 51 R pong
34 R ) sam 52| & & gim
35 | MmET & SO 53| "B ,17a& huan
36 ST - kui 54 | " & , & thoh/thuh
37 | BT # M lai/tai 55 | wbgE Tt sian
38| &R phiah 56 | #&E" R lang
39 | Tk sk khok 57| T shg
40 | BT 4 pi 58 | T OAR lang
41| #»TFE pin 59| 4T & sap
42 "B % ut 60| w" &, tauh
43 oA tong 61 | B3 | 4% bai
44 A= au 62 N tak/tok
45 %O lian 63 " EE  BR ai
46 S liap 64 | " BAF tsik
47 | T H  ®¥ tsam 65 | HT# kéng
48 | AT & kuann 66 | 2" # khiak
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67 KT E king/khio 84 R hiah
68 KT le 85 Gy S liam/li/ni
69 Iy lid 86 | AT & AF thiong
70 | " OBA L R phéng 87 | T " ban/pan
71 "B X SO0 88 | & 4 17 le
72 | 2T hian 89 | F& #£ | lang
/3 "2 R n 90 2 tiah
74| &7 Al tshong 91 BECITR < koo
75 B e sian 92 | "#& 47%& | jiau/lidu/gidu
76 | 1T % Siu/sio 93 | # " # gi
77 V- lUn 94 BT l&/lué/né
78 X' E 16 95 | E "4 thiu
79 L nua/ann 96 " 4 E
80| "#& ., HF= ngiau 97 A S hué
81 " Bh hué 98 | #" # 17 khim
82 BN pak 99 | m TR khiang
83| A" & .w tu 100 &&= | tann

F3H > H6H




CHRTIFEEY T SN ER BHEMBEET T/ ARRRER

k7 2 HEHF EF | AR 2 HEHE %
1 ham- " phuh | i 18 | T gin/gan/girn | -sin o
2 |thian- T pong/phong | & 19 " lak | -lak-tshuah 12
3 hai- T thuah | i 20 tshai- " ling | He
4 " giam | -ngé/ngi 18 21 st -sua &
5 tsuan T liau o 22 | lang hoo- " phang | 4
6 |kah-hah- "leh/lueh/lereh || % 23 " kai | -ting 5
7 pha- T tiann | B 24 | sann-a- " ki/ku/kir | #E
8 " phé/phué | -a % 25 ™ gioh | --lang 3%
9 sng/suinn- " tng | % 26 au- "tsan | A
10 ui- T tsiok | /2 27 ka- " ling | 48
11 au- " iah | 32 28 | "ui -siau-jin/lin/gin | &
12 ka- "lak ; -a i 29 |ang-ko-tshiah- " tshih | %
13 |khe/khue/khere- "lua | # 30 kha- "tsat | -a A
14 | kau- "gam/kam ; -4 # 31 tua- " kur Ji
15 ping- " tshuah | BR 32 kiann- " tsang | FE
16 tshau- " khdn | 33 hue- " thidu | &k
17 " 160 | -tsi/ji/tsG 5 34 un-" ku | i)
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35 ™ kian ; -tsi-bah i 53 " khit | -ku Z
36 | T tsu , -kué/ke/ker & 54 " kak | -a #
37 |tsit " kueh ; kam-tsia| #% 55 | tsia- " koo  -tshai 8
38 " sok ; -té-sim 45 56 tshai tioh T ian | 53
39 "sang | -se & 57 | " hing/han ; ang-nig/nui| A%
40 he-" ku ; -sau ua) 58 kuann- T lian | i
41 bi- I kau | 2 59 "inn , -tinn &
42 | TliG ; phong-se-sann| % 60 | " hau ;, -meh/beh/mé | 1%
43 "hau ; -siau % 61 pan- " kah | 8,
44 hok- ™ ling | -ko % 62 iu- kan | i
45 bah- " nng | #i 63 | giat- " khiat | -4-ué %
46 gin-a- " than | i7 3 64 | ka-T buah | -tshai ¥
47 l160-T kdo | -tsioh 5+ 65 kim-T sin | 55,
48 | kha-phinn/phi-T liam | il 3 66 " phik  -sia-ha B
49 tiau- " oo | pi 67 M too | -sik 2t
50 | thau T tsul , -tidu | 68 | kui-k(n-kui- T kuah | P
51 | Tlui; thoo-tshilinn/tshionn| =& 69 " kham | -in 4
52 " tshio | -ti6 #8 70 " kiat | -4-thau ¥
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71 | T khau ; tshai-thau | #&/B| || 86 " kui ; -khan N
72 " ha | -pau & 87 |tshat-a- " phue/phe/pher ; | A
73 " pian | -sd ¥} 88 ™ tur | -tsin £
74 " lian 4 -kio-a # 89 pai- " puah | #
75 " tshd , tsui % 90 "Im , hué/hé/hér NS
76 " khi | -piann Ah 91 kiG- T pue/pe | i
77 ué- " sat | i 92 tiau- " héng | P
78 hue- T lok | -lok %k 93 i0- T tsho iz
79 " tshuah | -séi S 94 " kah ; tshin-4 #
80 gl- " pi | ;A 95 "tim | -pdo e
81 " tiam  -khang-ku i3 96 "au | -ta-td R
82 "hannh/hah | -sio Y 97 | tng/tuinn- T tsai | i
83 " thong | -tshd B 98 " gan | -tsui B
84 " tshiam | -tann # 99 | héng-khong-" ho | 24
85 "lidau ; tsha #& 100 sai- " hak | -a Z
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